MBF3C - Trigonometry Lesson 5

From Yesterday:  The Sine Law
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sin(A) ~ sin(B) ™ sin(C)




Example 1:  Find the measure of side c in the triangle below.
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Example 2:  Find the measure of angle A in the triangle below.

New Today:  The Cosine Law
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A b2 = c2 4 a? — 2cacosB

B @ ¢ 2=a24b? - 2abcosC




Example 1:   
Can you use SohCahToa to solve for c?  Why not?


Can you use Sine Law to solve for c?  Why not?
Now you try:     Solve for c.

[image: image3.jpg]2o

Dem




Example 2:  In  ΔABC, given a = 7 cm, b = 8 cm and c = 10 cm.  Find the measure of 
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A to the nearest degree.

Now you try:  In ΔABC, given a = 18 m, b = 22 m and c = 30 m.  Find the measure of 
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C to the nearest degree.

MBF3C – Cosine Law

1.
For each of the following diagrams write the equation you would use to solve for the indicated variable:

(a)



(b)



(c) 


2.
Solve for each of the required variables from Question #1.

3.
For each of the following triangle descriptions you should make a sketch and then find the indicated value.

(a)
In ΔABC, given that AB = 24 cm,  AC = 34 cm, and 
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A = 67°.  Find the length of BC

(b)
In ΔABC, given that AB = 15 m, BC = 8 m, and 
[image: image7.wmf]Ð

B = 24°.  Find the length of AC

(c)
In ΔABC, given that AC = 10 cm, BC = 9 cm, and 
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C = 48°.  Find the length of AB

(d)
In ΔABC, given that 
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A = 24°, AB = 18.6 m, and AC = 13.2 m.  Find the length of BC

(e)
In ΔABC, given that AB = 9 m, AC = 12 m, and BC = 15 m.  Find the measure of 
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B.

(f)
In ΔABC, given that AB = 18.4 m, BC = 9.6 m, and AC = 10.8 m.  Find the measure of 
[image: image11.wmf]Ð

A.

 SEQ CHAPTER \h \r 1Solutions:

1.
(a) a2 = (36)2  +  (26)2  –  2(36)(26) · cos 53°

(b) (28.4)2 = (23.6)2  +  (33.2)2  –  2(23.6)(33.2) · cos 
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B

(c) c2 = (22.4)2  +  (14.2)2  –  2(22.4)(14.2) · cos 75°
2.  (a) 29.1 cm (b) 57° (c) 23.2 m
3.  (a) 33.1 cm (b) 8.4 m (c) 7.8 cm (d) 8.5 m (e) 53° (f) 24°
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